40 Schwarzschild Frequency

The Schwarzschild metric may be modified to represent frequency.
The Schwarzschild Metric;
The Schwarzschild metric may be written as:
0s? = -(R/r)c?0t? + (r/R)Ar* + r?06° + r’Sin%(8)0¢?
Where: the set (-t, r, 6, ¢) represents the polar co-ordinates of space-time
s is the space-time interval
R is a difference of radial distance; R=r-rs
rsis the Schwarzschild radius;  rs=2Gm/c?
cis the light constant
G is the gravitational constant
m is mass
Spatial Structure;
The angles (6, ¢) are: 8 =Ug/r and: ¢ =Ug/w
Where: Ug, Ug are the arc lengths
w is a radial distance; w?=x? +y?
ris aradial distance; r’=x*+y*+2?
the set (x, y, z) represents the Cartesian co-ordinates of space
Spatial structure may be represented as:
x = wCos(d) and: y=wsSin(})
z=rCos(0) and:  w=rSin(0)
The arc lengths are: Ug=1r06 and:  Us=wd

giving: 0Up=r00 and:  0Ug =wod =rSin(6)od



Schwarzschild Frequency

The Schwarzschild metric may be written as:
0s? = -(R/r)c20t? + (r/R)Ar? + OUg? + OU 2

Reciprocal Wavelength;

Assume the interval (s) reciprocates to the complex interval wavelength (iAs), giving:

S+i)\s=0
OS+id)\s=0
0s’+0As’=0

The Schwarzschild metric may be written as:
-0As? = -(R/r)c?0t? + (r/R)Or? + dUg? + OU4?
(R/r)c0t? = (r/R)Or? + 0Ug? + 0Uy? + OAs®
The Modified Metric;
The geometric average of radial distance (Rg) is: Rs = (rR)”
Division of the metric by the squared average gives:
c?0t?/r? = ar’/R? + OUg?/rR + 0U4?/rR + OAs’/rR
c?ot?/r? = 0r’/R? + OUp?/Rc’ + 0Uy*/Rc” + OAs?/Ré?
The modified Schwarzschild metric is:
c?/r? = (0r?/0t?)/R? + (0Ue?/0t?)/Ra? + (0U2/0t?)/Ra? + (0As2/0t?)/Rs?
Frequency;
The modified Schwarzschild metric includes squared velocities (vn2):
c?/r?* = v?/R? + v’ /R? + Vp?/Ra* + Vs?/Rg?
Frequency (fa) is: fo=vn/Rn
Giving the frequency equation; fi> = f? + fo> + fo* + fs*

Where; c/r=1/t=f;
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Schwarzschild Frequency

The Interval Frequency;

The magnitude of spatial frequency (fr) is related to components of spatial frequency:

ft=fP+fo +fo’

The interval frequency (fs) is related to temporal frequency (f:) and spatial frequency (fr):

fs2 =ft2 ‘fR2
The Tensor Equation;
The modified Schwarzschild metric includes squared velocities (vn?):
c2/r? =v/2/R? + ve?/Ra? + V2 /Ra? + Vs2/Rg?
(R?/r?)c? = v¢? + (R?/Rs?)(Ve® + Vg’ + Vs?)
Assume; vi/c=R/r
vi/v2=a/b
Vo? + Vg2 + Vs = Yav3?
Giving; vi? = (a/b)*v2? + %(R%/Rs?)vs?
Upgrade scalar velocities to vectors:  vi® = (a/b)?v2* + %(R*/Rg?)vs?
2

A basic Tensor (T,) is:  Ta=vn

T:= (a/b)zl-g + 1/z(RZ/RGz)T_‘,’

Giving a basic tensor field equation;
Conclusion;

The Schwarzschild metric may be modified to represent frequency.
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